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qraT= 13397 :

HEfetfed el &1 Sgd Qg1 € Uigq 7R 371 €] § Yrer HIiorg :

(i) FATH-TAH 38T 8 | WHt I HMHATH & |

(ii) IBYTH-UA i @vel 4 [A9TfSia 8 — &, @, 906 & |

(iii) TUEF § Yo §&q1 1 4 18 T sglaacyid (MCQ) a1 594 €& 19 TF 20 379 T
T TN 1 31F H I & |

(iv) TUE T Y G 21 € 25 T 3710 T3 (VSA) TFR & 2 3l o T 6 |

(v)  WUZITE I T 26 G 31 TF T-3TT (SA) TFR & 3 371 & TH 8 |

(vi) U T H Y &I 32 § 35 T H-ITR1T (LA) TPRF 5 37 & JH & |

(vii) TS T F Y77 G 36 T 38 T THIUT ST STTEMN 4 37 & J7 8 |

(viii) Y9-99 H GHY Tareq &1 o091 737 2 | T=IfU, @ve @ & 2 Yol 4, @ve 71 % 3 Y¥ 4,
GUS T F 2 YU H AYT IS T F 2 J¥1 T SaAReF faahed H1 Jae a1 T & |

(ix)  FoFcIR &I IIF FAA 3 |

leLeten
54 GUS H Fglaehedid 3 (MCQ) &, S8 Jed% J97 1 3 i & |

1. cos‘lxﬁﬂ'@l‘ﬂT@T%:

&) E?’ﬂ ®B) [n,2n]
(C) [O, TE] (D) [275, 3n]

2. A % 9 A S I(E’1Qf(x)=sinx—cosx—kx+C,x%WG’Pﬁﬁ%“ﬂﬁ%%’Q

TEANT, B :
(A) 1<i<+2 B) A>1
C©) Ax+2 D) r<1

3.  IfC A TAT B EHM HIME % T STE & AT AB = ATATBA = B8, @ A2 + B2 R
2

(A) A+B (B) BA
) 2A+B) (D) 2BA
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General Instructions :

Read the following instructions very carefully and strictly follow them :

(i) This question paper contains 38 questions. All questions are compulsory.
(it)  This question paper is divided into five Sections — A, B, C, D and E.

(iti) In Section A, Questions no. 1 to 18 are multiple choice questions (MCQs) and
questions number 19 and 20 are Assertion-Reason based questions of 1 mark
each.

(iv) In Section B, Questions no. 21 to 25 are very short answer (VSA) type
questions, carrying 2 marks each.

(v)  In Section C, Questions no. 26 to 31 are short answer (SA) type questions,
carrying 3 marks each.

(vi) In Section D, Questions no. 32 to 35 are long answer (LA) type questions
carrying 5 marks each.

(vii) In Section E, Questions no. 36 to 38 are case study based questions carrying
4 marks each.

(viii) There is no overall choice. However, an internal choice has been provided in
2 questions in Section B, 3 questions in Section C, 2 questions in Section D and
2 questions in Section E.

(ix)  Use of calculator is not allowed.

SECTION A

This section comprises multiple choice questions (MCQs) of 1 mark each.

1

1. The principal branch of cos™ x is:
T 3m
@ |2 ®) [r, 2]
(C) [O, TE] (D) [275, 37r]
2. The values of A so that f(x) = sin x — cos x — Ax + C decreases for all real
values of x are :
(A) 1<r<A2 (B) Ax1
© =2 (D) x<1
3. If A and B are square matrices of same order such that AB = A and
BA = B, then A2 + B2 is equal to :
(A) A+B (B) BA
C) 2A+B) (D) 2BA
65/4/2 Page 3 of 23 P.T.O.
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X W

1 sin3x
) #* —
I flx) = 3 cos” x . e
k, x= g ¥ fw
X = gwﬁaﬁ%ﬁkmm%:
3 1
(A) 5 B —
1
(®) ) (D) 1

HTHT aTEd ek x o T, f(x) = x5 + hx + 1§, dl ;
(A) f, R T Uhehl § AAferT =1 81 &
(B) f, R W38T & cifehd Uaheh! Il &
(C)  f, R W Ushehl 3TN <RI &

(D)  f, R T Al Tehehl & 3R T & =016 H

afe U @ o fem-RETET A, A, 4§, AT A TR -

1
A _ B) 1
(A) 5 (B)
1 1
© = D) +—=
V3 QRN
-1 2 4
|1 x 1|=-578,q x % ad AHI HPHEEA ¢ :
0 3 3x
A -24 (B) -16
(C) 16 (D) 24
0 1 -2
AFE -1 0 -7|3TH:
2 7 0
A) Tl smegE (B) @HiHA 3TeTE
(C)  Torww wmfta sy (D)  fexT 3159
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EE
=
&

1-sin®x T

If f(X) - 3 cos“x
k, forx= =
2

1s continuous at x = g, then the value of k is :

1

(A) (B)

N[~ DN|w

(©) (D) 1

For real x, let f(x) = x3 + 5x + 1. Then :
(A) f1is one-one but not onto on R
(B) fis onto on R but not one-one

(C) f1is one-one and onto on R
(D) fis neither one-one nor onto on R

If the direction cosines of a line are A, A, A, then A is equal to :
1

A — B 1
(A) 5 (B)

1 1
C — D) +—
(C) 5 (D) 5

-1 2 4
If 1 x 1|=-57,the product of the possible values of x is :
0 3 3x

(A) -24 (B) -16
(C) 16 (D) 24

0O 1 -2
The matrix |-1 0 -7 |isa:

2 7 0
(A) diagonal matrix (B) symmetric matrix
(C) skew symmetric matrix (D) scalar matrix
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3x-2, O0<x<1 .
9. zr&:f(X):{;‘ U k(0,2 Hm R, A a TR
2x“ +ax, 1<x<2
7
(A) -4 (B) 5
Cc) -2 (D) -1
10. IRF:N->W,
E,Zlﬁnﬂ'q%
f(n): 2
0, RICERELLES
WWW%,ﬁf:
(A) FHAATHH T (B) hacT ATV &
(C) UkhI-AT=3E 8 (D) 94T AT=BTET 2 3 T & Wohohl
11. IR f(x) = 2x + cos x §, A f(x) :
(A) T x = 1 T AT A & (B) W x =1 T AT A &
(C) THIUAH G (D) Ueh ST %old &

12. e AABC@‘@GT@ABWACW:H%SH§+1§a9ﬂ3?—3+41§m
e 8, @ A & BC W di=t 7% mrftaeht il @ 2

(A) 242 T (B) /18 3#Tg
(C) gwré (D) @wré
X7 ?T%XSI
13. fix)=
8 {57 aﬁX>1
ST UG %o £ Gad 78T @
(A) x=0W B) x=1W
(C) x=2W (D) x=HW
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3x -2, 0O0<x<1
9. If f(x) = 9 is continuous for x € (0, 2), then a is equal
2x“ +ax, 1<x<2
to:
7
A) -4 B -—=
2
C) -2 (D) -1
10. If f: N —»> Wis defined as
n .. .
—, 1ifn is even
f(n) = 2 ,
0, 1ifn is odd
then fis :
(A) injective only (B) surjective only
(C)  abijection (D) neither surjective nor injective
11. If f(x) = 2x + cosx, then f(x) :
(A) hasamaximaatx=m=x (B) hasaminimaatx=n
(C) 1is an increasing function (D) 1is a decreasing function

A
12. If the sides AB and AC of A ABC are represented by vectors 3\ + k and
AN
3/i\ — 3\ + 4k respectively, then the length of the median through A on

BCis:
(A) 242 units (B) /18 units
(C) g units (D) @ units

13. The function f defined by

x, if x<1
f(x) =
5 if x>1

1s not continuous at :

(A) x=0 (B) =1
(C) x=2 (D) x=5
65/4/2 Page 7 of 23 P.T.O.
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J-ex (cos X — sin x) dx g :

(A) eXsinx+C (B) —-eXsinx+C

(C) —eX*cosx+C (D) eXcosx+C
Thy = Jx , W@ x = 0 FAT x = 4 TUT x-3787 ¥ FoR &1 71 BT @
(A) %aﬁwr% B) %aﬁs?ﬂ%

©) ?aﬁwé (D) ?;’—Zaﬁsaﬂé

W‘emﬁ?ﬂwj—y +y tan x — sec X = 0 T GHTH U & :
X

(A) —cosx (B) secx

(C) logsecx (D) eSecX

Teh Lk JTTH e (LPP) % T & o i faig (0, 2), (3, 0), (6, 0), (6, 8)
qAqT (0, 5) € | IS 37T B Z = ax + by; (a, b > 0) T IMehad 7 (0, 2) T
(3,0) RITABIATE, A adMbHEET R :

(A) a=b B) a=3b

(C) b=6a (D) 3a=2b

PN B T

(A) 4 (B) 4

(C) tanle- g (D) tanle
Page 8 of 23
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J-ex (cos x — sin xX) dx is equal to :

(A) eXsinx + C (B) —-eXsinx+C

(C) —-eXcosx+C (D) e*cosx+C

The area of the region enclosed by the curve y = Jx and the lines x = 0
and x = 4 and x-axis is :

16 32

(A) 9 sq. units (B) 9 sq. units
(C) % sq. units (D) 33—2 sq. units

The integrating factor of the differential equation

dy +ytanx—secx=0 is:

dx

(A) —cosx (B) secx
(C) logsecx (D) eSecXx

The corner points of the feasible region of a Linear Programming
Problem are (0, 2), (3, 0), (6, 0), (6, 8) and (0, 5). If Z = ax + by; (a, b > 0)
be the objective function, and maximum value of Z is obtained at (0, 2)

and (3, 0), then the relation between a and b is :

(A) a=b (B) a=3b
(C) b=6a (D) 3a=2b
1
The value of J‘L 18 :
eXt+e ¥
0

T T
A - — B =
(A) 4 (B) 4
(C) tanle —g (D) tanle

Page 9 of 23 P.T.O.
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99 G&AT 19 31X 20 3719 T aeh SMEnid 94 € | 51 97 13T 78 & o7 wah 1 37fime
(A) 1 TG 1 o (R) SR 3ifehd 1391 71 € | §9 5¥1 % el SR A1 19¢ T $iIsi (A), (B),

(C) 3R (D) H € T 211 |
(A) IR (A) 3T deh (R) SHT Tl & 3T deh (R), 3R (A) i Tt Fren
FATL |
(B) fehe (A) 3R @ (R) 31 @&l &, Tq @ (R), 3AMHAA (A) T |
AT TET T 2 |

(C)  ANTR (A) |E &, T aoh (R) T ¢ |
(D) AR (A) T ©, T on (R) WET 2 |

19. 37fYFHYT (A) : A A q1 B < UHt weAd & foF P(A N B) = 0 8, @1 A 7T B &
FEATC R |
a# (R) : 31 EIEATY T Bl © ATQ U oh He oh TH % B TS T 7 TS |
20. BT (A) : Th ek TUmT geen (LPP) | Ife gaTTd & @rel €, dr e
T FHET (LPP) &1 s 8 T2 © |
% (R) : T &7 95 & o S a1 ey G 8 § |

CLERCH
59 @S H Hld Y- (VSA) TFR % 5 Y27 8, 571 T % 2 3% 2 |

21. Y qUT ARV o AT W, k % o HE W hisQ Sk fog wefisor gm
5x — ky = 2; 7X—5y=3W@3T%?ﬁ'JEFT%I

22. (&) sin‘l[ X Jﬁwwﬁ%ﬁ@ql

«/1 + x2

T
@) sin~!x—1 T Jid J1d HITC |
2 2
23. W%Wﬁ,%%+%:1ﬁ%xﬂ%%aﬁaﬁ%éﬁw%ﬂwmﬁ
hifS |

65/4/2 Page 10 of 23
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Questions number 19 and 20 are Assertion and Reason based questions. Two
statements are given, one labelled Assertion (A) and the other labelled Reason
(R). Select the correct answer from the codes (A), (B), (C) and (D) as given below.

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.
(D)  Assertion (A) is false, but Reason (R) is true.

19. Assertion (A) : If A and B are two events such that P(A n B) = 0, then A
and B are independent events.
Reason (R): Two events are independent if the occurrence of one does
not effect the occurrence of the other.

20. Assertion (A) : In a Linear Programming Problem, if the feasible region
is empty, then the Linear Programming Problem has no
solution.

Reason (R): A feasible region is defined as the region that satisfies all
the constraints.

SECTION B
This section comprises 5 Very Short Answer (VSA) type questions of 2 marks each.

21. Using matrices and determinants, find the value(s) of k for which the

pair of equations 5x —ky = 2; 7x — 5y =3 has a unique solution.

22. (a) Simplify sin™! [L] .

o\fl + x2

OR
(b)  Find domain of Sin_lﬂfx—l .

2 2

23. Calculate the area of the region bounded by the curve % +9 -1 and

4

the x-axis using integration.

65/4/2 Page 11 of 23 P.T.O.
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24. (F) ‘@’ 98 AW A J1d HINT e Y fix) = 2x2 —ax + 3;  [2, 4] W
Teh A B & |

T
@) 3l f(x)=x+§, x> 1 g, 3 fh £ Uk e o 7 |

25. Had f(x) = %x?’ —12x2 + 18x + 5 & LA I==rdyq qoT - freaw 31 shifsw |

Qug T
59 GUE § o79-3709 (SA) TFR & 6 T 8, S8 JI® & 3 HF 8 |
26. (F) T Al ATt UG W TSI shl HEAT BT TTRIhdT sied J1d hIfST, T8 A

T ok AT I AT o &I 3h1 TTRIHT GHI 2 |
YT
(@) U foeent &1 IR IBTAT T | HHT T A1g1ah =R X = Fordi it g — aei

[aNaN

TAT g7 I foram TR | X o7 TTRIshdT sie JTd hifSTT a7 SEehT qTed

oft 31 hfSTT |

27. (F) AR F:R* >R, fx)=log,x(a>0qUMa = 1) TN INAING g, 4 g
SHITSTT foh £ T Tohehl- 3=k Held © |

(R &l gATeHeh ATEfreh HEATH| 1 e 2 )
AUAT
(@) HHMTA={1,2,3daTB={4,5,6). AU BT U TeeT R 30 TehI TRq 2
fFR={x,y):x+y=6,xcA,yecB} 2|
(i) R &t s1a9a fafau |
(ii) T R T %o & ? HeATUA hiferg |
(iii) R 3T T o IREX J1d HITIT |

28. I hINT :

cosxdx
1+cosx+sinx

65/4/2 Page 12 of 23
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24. (a) Find the least value of ‘a’ so that f(x) = 2x2 — ax + 3 is an increasing
function on [2, 4].

OR

(b) If f{x)=x+ 1 , X > 1, show that fis an increasing function.
X

25. Find the local maxima and local minima of the function

f(x) = §X3 —12x2 + 18x + 5.

SECTION C

This section comprises 6 Short Answer (SA) type questions of 3 marks each.

26. (a) Find the probability distribution of the number of boys in families
having three children, assuming equal probability for a boy and a
girl.

OR

(b) A coin is tossed twice. Let X be a random variable defined as
number of heads minus number of tails. Obtain the probability
distribution of X and also find its mean.

27. (a) If f:R* > R is defined as f(x) =log, x (a >0 and a # 1), prove
that fis a bijection.

(R* is a set of all positive real numbers.)

OR

(b) Let A = {1, 2, 3} and B = {4, 5, 6}. A relation R from A to B is
definedas R={(x,y):x+y=6,x € A,y € BL.

(1) Write all elements of R.
(i1)  Is R a function ? Justify.

(iii) Determine domain and range of R.

28. Find:

j cosx dx

1+cosx+sinx

65/4/2 Page 13 of 23 P.T.O.
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29. (%) Th Gk I VA & weqo W o= Fifsie | afs faes w foa yeke =, a@t
T&rereh <hl O: 3BT, W Afe Téereh 0 9 Wk B, a1 o T ol Wb | AfQ ST
B : “FH-U-FHH T U2 Yohe BHT T Tfed BT fem 7RI 8, Y 52T A ¢ U8 W
3 U I} HE&AT Wohe BHT hT Aufdsier TRishdT J1d hIfTT |

HAAAT
(@) T ARG o X T ekl sie = feam & -
X 1 2 3 2\ 3\ 4)
PX) |11 1 1 3 |1 1
30 15 10 10 15 10

() IREX) =328, ar\ sk mETHif | 2
(i) PX>1) JaHifm) 1

30. Yare XL _Y 2 _273 oop X4 _ Yl 3 oRmer R O i
2 3 4 5 2 ~ ~

(~1, -5, —10) T gl 1 AT |

31. fAfafad s T aue &1 UThR g J1d hifarg :
= Sraqe
X+ 2y > 10
X+y=>6
3Xx+y=>8
x,y20
o A Z = 3% + 5y ol ~IATHIHLT HLAT |

LCLER5)
THEISH 4 -390 (LA) PR F TG, S8 IcdFh & 5 F & |

32. & % WeRIRT o ©Uh H ST o W& Y hl TS (y WD) o e BT ey ST
y = 4x — %xz ST RIS BT €, STEf x T o SohTRT o §0eh H 3T et TeT 3h S
gl
() O o TR oh @TUe il o6l i A Al | 2
(i) Toram Tt & dem 1ot s1fRreram S=mg wTed R o 2 SAfthaw S fRai R 2 3

65/4/2 Page 14 of 23
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29. (a) Consider the experiment of tossing a coin. If the coin shows head,
toss it again; but if it shows a tail, then throw a die. Find the
conditional probability of the event A : ‘the die shows a number
greater than 3’ given that B : ‘there is at least one tail’.

OR
(b)  The probability distribution of a random variable X is given as :

X 1 2 3 20 | 3A | 4\
P |1 1 |1 ]38 [1]1
30 15 10 10 | 15 | 10

(1) Calculate 2, if E(X) = 3-2. 2
(ii) Find PX>1). 1

30. Find the distance of the point (-1, —5, —10) from the point of intersection of

the lines x-1 = y—2 = z—3 and x—4 - y-1 =
2 3 4 5 2

Z.

31. Solve the following Linear Programming Problem graphically :
Minimise Z = 3x + by
subject to the constraints
X+ 2y > 10
X+y=>6
3x+y=>8
x,y>0

SECTION D

This section comprises 4 Long Answer (LA) type questions of 5 marks each.

32. The relation between the height of the plant (y c¢cm) with respect to

: : : 1 :
exposure to sunlight is governed by the equation y = 4x — §X2, where x is

the number of days exposed to sunlight.

(i) Find the rate of growth of the plant with respect to sunlight. 2
(ii1) In how many days will the plant attain its maximum height ?
What is the maximum height ? 3
65/4/2 Page 15 of 23 P.T.O.
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33. AR A Th 3x3 YHAUNT YR ©, d1 awnisy foh foreft safaw k = 0 & foQ
(kA1 = iA—l. 3a: (3A)1 uferfara hifse, st

2 -1 1
A=|-1 2 -1|%]
1 -1 2

[aN@N

34. (%) HHEIARINT:

/4
j Sin X cosx

(:os4 X+ sin4 X

dx

HAAT

(@) T HINIT ;

-‘.«/x2 +1[log(x2 +1)—210gx}

dx

X2

35. () awitzy P ook e e R Rt o qer b g Fref d, @ S
%|;><E)| ST SET BT € | 37: 36 WHIK AT T & I g
Rt 2l — ] + kdaT i +3) — k gUTEd§

3T

(@) U T AT T FIdT FHieReer 0 hife ST fofg (1, 2, — 4) & gt St

2 T A YErat ng - y+11;9 - 2_710, qu

T=151 +29] +5k +u@Bi +8] —5k) Fewaqd|
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33. If A is a 3 x 3 invertible matrix, show that for any scalar k # 0,
(kA1 = %A‘l. Hence calculate (3A)~1, where

2 -1 1
A=|-1 2 -1|.
1 -1 2

34. (a) Evaluate :

/4

Sin X COS X
I dx

cos4 X+ sin4 X

OR

(b) Find :

dx

J-«/xz +1 [log(x2 +1)-2log x}

X2

35. (a) Show that the area of a parallelogram whose diagonals are

- - 1, > >
represented by a and b is given by 3 | a xb |. Also find the

A A N
area of a parallelogram whose diagonals are 2i — j + k and

/.\ A A
i +3)—k.
OR
(b)  Find the equation of a line in vector and cartesian form which

passes through the point (1, 2, — 4) and is perpendicular to the
lines x-8 y+19 z-10
3  -16 7

, and

- A ALA AL A A
r=151 +29j) +5k + u(31 +8j —5k).
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dus s
3G GUE H 3 JHUI-37eqIH STTYTRT T3 3, 1578 Ik & 4 37 8 |
ThI0T 37T+ — 1

36. %S TET I AT h1 T FAd GHT T TTSAd =IO Bt 8 | 307 o fow, g
T 78-56 > 78-9 T IeoiT X TehdT & FMTh 7856 > 789 T | TU TR Tl
HTh i o [T, STeaATdsh T hedl VI o forermferat sht aemers qorn wier & fofg
freferfaa o= fear ma
&Tc1 &1 H Tohpel H AT et foae |, 5 Bl Wiet teb STa™dr § sy fofa | 38
TSt gl o e Y 2, =€ e ot qrferent | gRiar TR -

S BT A | T ot gl (HTeT H)
I 477
fersiir 47-07
Hlfcieh 43-09
fewr 43-9
EEN 45-2

feranfefart € g1 T foh o STl foh wre anagi;hw TRl B |

3G YT o ITTYR W TS F I UROTH Yo foham ok 409 ferenffat =6t gemerat i
T H T RO & T 19 Tornieia sl 7/ Tetd amon =&l @ | oliedr # o ferenffa
% I TTTd YT B, 3780 ¥ 80% feranfeiay 3 forsita ot 9 Sow o &9 7 feam srafes fsH
forenfrat =t =8 Tora g AT 8, 3T @ 90% 7 9T IR forsiter 7 e

ST AT o6 ATIR TR Tt o I a1

1) qﬁwﬁ@ﬁmﬁlwwa‘s’um T T} 8, o forsii, et St ok ®9 § 3

T ITRIRAT FT R 2 1

(i) 3kl =T IRhdT & foh Uer argesar <A1 T foenefl, ufiem § S % w0 H
forsttr for@ar 2 2 1

(iii) () U foemeff o= foeim S & &0 9 G, &l mad amon 8= it =0
ITRIhAT g ? 2

AT

(i) (@) 3EH F1 TR & foF e foemeff fm smen s fosie iR @, =9

forenfelt & @ 2 519 92 Tera e 1 ® 2 2
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SECTION E

This section comprises 3 case study based questions of 4 marks each.
Case Study -1

36. Some students are having a misconception while comparing decimals. For
example, a student may mention that 78:56 > 789 as 7856 > 789. In
order to assess this concept, a decimal comparison test was administered
to the students of class VI through the following question
In the recently held Sports Day in the school, 5 students participated in a
javelin throw competition. The distances to which they have thrown the
javelin are shown below in the table :

Name of student Distance of javelin (in meters)
Ajay 47-7
Bijoy 47-07
Kartik 43-09
Dinesh 439
Devesh 45-2

The students were asked to identify who has thrown the javelin the
farthest.

Based on the test attempted by the students, the teacher concludes that
40% of the students have the misconception in the concept of decimal
comparison and the rest do not have the misconception. 80% of the
students having misconception answered Bijoy as the correct answer in
the paper. 90% of the students who are identified with not having
misconception, did not answer Bijoy as their answer.

On the basis of the above information, answer the following questions :

1) What is the probability of a student not having misconception but

still answers Bijoy in the test ? 1
(i1) What is the probability that a randomly selected student answers
Bijoy as his answer in the test ? 1
(i1i)) (a) What is the probability that a student who answered as Bijoy
is having misconception ? 2
OR
(iii) (b) What is the probability that a student who answered as Bijoy
is amongst students who do not have the misconception ? 2
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Case Study - 2

37. An engineer is designing a new metro rail network in a city.

Initially, two metro lines, Line A and Line B, each consisting of multiple

stations are designed. The track for Line A is represented by

x—2 y+1 z—3
l]. : = =
3 -2
x-1 y—-3 z+2
lz: = = .
2 1 -3

Based on the above information, answer the following questions :

, while the track for Line B is represented by

(i) Find whether the two metro tracks are parallel. 1

(ii)  Solar panels are to be installed on the rooftop of the metro stations.
Determine the equation of the line representing the placement of
solar panels on the rooftop of Line A’s stations, given that panels
are to be positioned parallel to Line A’s track (/) and pass through

the point (1, — 2, — 3). 1
(iii) (a) To connect the stations, a pedestrian pathway perpendicular

to the two metro lines is to be constructed which passes
through point (3, 2, 1). Determine the equation of the

pedestrian walkway. 2
OR
(111) (b) Find the shortest distance between Line A and Line B. 2
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ThI0T 3T — 3

88.  WRI TTHIT & o SR, Teh DTS oh U2 1T UL BT ATTHT hh! 96 ST @ | @ o 918 §
Ig IST B AT & qAT S8k 38T B ohl o, THET o qTIHE 99T FHHL o dT9qH
(25°C) o ST o FHIIT & | ST H THEL T qO9H 85°C & TAT 38T & I &
THTRTOT %(T(t)) = — k(T(t) — 25) BT IRATA &,

STEf T(t), T9 ¢ (e ) ox T 3 arawT shi fRefte ot & a9 k T STl 2 |

Iqer AT W 3ATe, fefoifea et & s i

() TEET % d9EE T(t) o foru stiser 31d hifsre sterfes fear man 2 o
T(0) = 85°C ® | 2

(ii) SO % d9HH ST 40°C doh 3T | ford=r gar e 2 fean man @ f
k = 003, log, 4 = 1-3863. 2
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Case Study -3

38. During a heavy gaming session, the temperature of a student’s laptop
processor increases significantly. After the session, the processor begins
to cool down, and the rate of cooling is proportional to the difference
between the processor’s temperature and the room temperature (25°C).

Initially the processor’s temperature is 85°C. The rate of cooling is

defined by the equation %(T(t)) = — k(T(t) — 25),

where T(t) represents the temperature of the processor at time t (in

minutes) and k is a constant.

Based on the above information, answer the following questions :

1) Find the expression for temperature of processor, T(t) given that

T(0) = 85°C. 2

(i1) How long will it take for the processor’s temperature to reach
40°C ? Given that k = 0-03, log, 4 = 1-3863. 2
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